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48. The experimental design 0; 0y O3 | 48. 04 05 03 04 x O5 Og 07 Og ®I IR
0, x 05 Og O Og is : afeq T
(A) Non-equivalent group design (A) FAGAGI T 3fYehey
(B) Quasi-experimental design (B) 9™: YEIf SAfuehed
(C) Time-series design (C) HHIHICIh/HTaALh AfheT
(D) Equivalent group design (D) Faged e 3fiehey
49, e is not a computer | 49. T ‘U HEIRTEAE Y
statistical package. e
(A) Statistica (A) RILTH
(B) SPSS (B) wq.dl.Tq.Ty.
(C) Excel (C) TR
(D) ACCESS (D) 3fF"
50. Unethical practice in research | 50. Wrfieiehr =~ , B G
is : 3Hfd® Jol TR
(A) Taking informed consent of the (A) TSI Hifgdl S <Al HEHd|
subject Ll
(B) Offering inducement to (B) TRNEFHE HEUNT QIoAmEre! Hieget
participate in research <0
(C) Fabrication of data (C) wUicThfead Hifgd! TOR 0
(D) Protecting privacy of the (D) yaraH foetean Arfedteed ol
subject qrestt
20
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45. If the objective of the research is | 45. S® ‘‘yiafqes wwOEE=n  sfde™
“To study the value inputs in the SIS ST el 1!
History text-books of Primary stage”, S O 3 SEE T e

hich of the following will ..
:Sez :0 t Ceonoecflw tiew relf;itazi ......................... S S S WS
data ? HheIEIS! shell SUR  FATE.
(A) Content analysis (A) R forerem
(B) Rating scale (B) wefe== it
(C) Questionnaire (C) gTEcil
(D) Achievement test (D) TUEA Faret

46. In ... research manipulation | 4g e T Seiaed See Sea
of variables is necessary. SO0 STEATTH 3T
(A) Action (A) FHdl Hened
(B) Experimental (B) Uit wEleA
(C) Causal comparative (C) TericHeh hTiehror HIMEH
(D) Ethnographic (D) HHEEIRIST Gene

47. Suppose a researcher measured the | 47. THST, ThH Wegeh™ si.uwg. foremefi-
self-confidence of B.Ed. student- forererTea SAcHfavar ™ W99 Sdl. ®©
teachers, its measurement is g e 7 .
considered to be in .............

(A) Ratio scale (&) TR Ty o
(B) Ordinal scale (B) ¥ Tefrehl/ S
(C) Interval scale (C) STaReTeTTshl/ Soft
(D) Nominal scale (D) TR TTcTehT/ Sroft
19 [P.T.O.
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42. The concepts of internal and | 42. Taf& omfor am fHE@=t Hheu
external criticisms are associated ARt HIMSR Haferd
with : e ?

(A) Validity of experimental designs (A) HIMEAT=AT G SAfehedT
of research BRI

(B) Descriptive research (B) SUATCH HIMeH

(C) Historical research (C) Ufgeifas GeneA

(D) Ex-post facto research (D) FARR HMeH

43. Which of the following is the highest | 43. TSN Wefiedent =~ 7l
level of significance in Behavioural gidhadr S=Udq R 2.

Sciences ?

(A) 0.01
(A) 0.01

(B) 0.002
(B) 0.002
(C) 0.05 (C) 0.05
(D) 0.001 (D) 0.001

44. When one variable is having a | 44. %1 T 9 T&AA SR (M ad
genuine dichotomy and the other fgars™ o) STHUR o g{:ﬁ ENl
variable is continuous, then the sraifed oTaa, Jea1 9T e T
appropriate correlation co-efficient | ... a1 2.
is :

. (A) Tgsiteh
(A) Biserial
(B) Tetrachoric B) =g
(C) Point-biserial (©) fog-fasmi=
(D) Phi (D) wr A
18
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39. Wherever population is | 39. Siegl SHUE THhisHH 3TFd degl Tl
homogeneous, the best method of fFae=it 3a| Tga gl
sampling is : B4
(A) Incidental (A) 9rEfiTeR
(B) Purposive (B) HeqH
(C) Random (C) =gf=seh
(D) Stratified (D) =

40. The scientific method of educational | 40 NI EN L CINCRIIECE-G IS
research implies: | 7777
(A) Inductive reasoning (A) ST HROTHATET
(B) Deductive reasoning (B) STerTHl SHIROTTHHTE
(C) Both deductive and inductive (C) ST SO STt =1 Sl FehrCail

reasoning SHTOTTHHTT
(D) Logical reasoning (D) difcheh SHROTHHTET

41. When the questions are presented | 41. @l YfdEEHTe FHUHHR Y99 fo=mal
to the respondents in a face-to-face AT ST JeradeRE et . aTem
situation and the questions are filled 3 SISO WA
by the interviewer rather than the

TEUTdId.
subjects, the tool is known as ..........
(A) An inventory (A) fereht
(B) A questionnaire (B) gedrecit
(C) A schedule (C) =
(D) A test D) w9
17 [P.T.O.
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37.

38.

The correct sequence of the thinking

Pprocess is .................

(A) Sensation—perception—concep-

tualization

(B) Perception—sensation—concep-

tualization

(C) Sensation—attention—imagi-

nation

(D) Attention—sensation—percep-

tion

Educational Research attempting to
develop generalizations about
teaching-learning process and
instructional material is .................

research.

(A) Action

(B) Fundamental
(C) Policy

(D) Applied

37.

38.

EEEVIERINR |

TR,

(A) ToRA—Tae—gay

(B) 3TaeIg—YagA—gay

(C) HASAT—3TTHTT—hoT]

(D) 3TAYH—HdET—3TTa

FII-HALATIA giRar afor AR

Tifecd ITamed FEFATERI0 hode

(B) HaYd
(C) ERoTHS

(D) 39S

16
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34. ‘Suresh always tries to avoid | 34. ‘“‘Her R 9red 9E 3™ U W EREl
examinations by saying that he is T T Tae L ¥ A
not feeling well.” This behaviour is | -
an example of ............

A) TRIHS
(A) Negativism (A) o ol
(B) Delusion (B) fagd ot
(C) Pretending (C) BFT T
(D) Displacement (D) faeoma=

35. The term ‘inferiority complex’ in | 35 =fFHENa ‘=Fe’ & &=
personality is coined by ............. I foofad Soe TR
(A) Freud (A) FiEe
(C) Dollard C) <ee
(D) Rogers D) T

36. ‘For transfer of learning a student | 36. ‘sregzm Hwuw Bvgmre, faeneaten
must know the similarity between HEIAMEd W Hifed STH0 STavash
the ideas.” This statement is based S, " & for o TR SR
ON .ovvererreenaeenn .

(A) Thorndike’s theory (A) drferh ST
(B) Judd’s theory (B) SggHl SUu]
(C) Bagley’s theory (C) et 3ol
(D) Kline’s theory (D) FATAN T
15 [P.T.O.
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31. “While teaching history a teacher | 31. ‘‘Sfer favame steATds Hamn e
should not teach any incident or fefas gam fhar s qesqu
historical fact in isolation.” This Ry 7" ® faem o SR
statement is based on ............... TR,

(A) Association theory (A) RO SU9
(B) Conditioning theory (B) 1fvgem Sqa=it
(C) Operant conditioning theory (C) ¥ AqEUH 9ot
(D) Gestalt theory (D) wHftearR 3uq

32. Amit reads &% (BADAK) as & | 32, 2iffq ‘aes’ & 3 9—<—dh 3791 9=,
(BA)—< (DA)—= (KA), then Amit o e T .
1S A ceeeennnn.

(A) Ffigsret
(A) mentally retarded child
B) sifde=a
(B) hyperactive disabled child ®)
(C) learning disabled child (C) e STepTdem
(D) slow learner (D) IfaHg

33, are used to observe and | 33, sy TdqEN OGS 9 HYATER
measure the unconscious side of [ .. = YA Fer SE
behaviour.

(A) Heirerd
(A) Interviews
B) WEfiTR &
(B) Situational tests ®)
(C) Sociometric techniques ©) &
(D) Projective techniques (D) J&U0
14
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29. A 24 year old person solves the | 29. 24 a¥ T et 16 A= AR
intelligence test meant for a 16 year TR Sheladl fGHIT HHE! Hiefdd. A
old child. Then the intelligence N e ﬂﬂs\l\]}uﬁoh ”””””””” TGl
quotient of that person is ............ rfEs.

(A) 66 (A) 66
(B) 150 (B) 150
(C) 100 (C) 100
(D) 67 (D) 67

30. In Clarke-Hull’s theory of learning 30, FTE-_Te= ST IUTEEE
which of the groups of terms is very
_ I T AId Hew@qYl B
1mportant :

(A) Need—drive—incentive motiva- (A) TRe—Ssl—3THE™  IRO—ga=id
tion—habit strength
gt T
(B) Stimulus—response—operation
(B) SEUh—AfqHE—Ydfshar—da™
—reward
(C) Person—foreign hull—vector— (C) TeK—aIgEel R U—afeeT qIM—
dimensions
fort
(D) Motivtion—goal—barriers—
topology (D) WU—T—3TSqB— STersit
13 [P.T.O.
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27.

28.

Ramesh speaks in a code language
which has been developed by his
friends; then Ramesh may be in the

stage of development.

(A) Adolescence

(B) Early childhood

(C) Later childhood

(D) Adult

Proper sequence of stages of concept

formation is

(A)

Naming—generalization—

comparison—observation

(B) Generalization—observation—

comparison—naming

(C) Observation—generalization—

comparison—naming

(D) Observation—comparison—

generalization—naming

27. WY A1 fHet TR holedl Hiehfdeh

~

qrel=n IYAT SAdEl hidl, a8 ql

(A) UrTSTaE

(B) qol-acarerE

(C) STU-HATATIAE

(D) YlererEen

(A) ATHTHA—ATHATAHIT—qAAT—

Trretor

(B) ATHTHATHIT—AT 10— qAT—

AR

(C) A0 & —aTHT= R T —q AT—

AR

(D) A0 & —q AT —HTHT= R —

AR

12
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25.

26.

of education for different

people of the society is characteristic

of democratic and industrial

societies.

(A) Access

(B) Quality

(C) Inclusiveness
(D) Excellenceness

The learning centres of Takshasila

and Varanasi have been famous

(A) Sikh learning

(B) Jain learning

(C) Hindu learning
(D) Buddhist learning

B.F. Skinner stresses on

while defining educational
psychology.

(A) teaching-learning process

(B) stages of development

(C) problem solving in education

(D) human behaviour

25.

26.

T T Aftrew e @ efienfre
THETE 3R

(A) YTl

(B) TUTerRI
(C) gagHTafITehdl

(D) 3kl
qafsten o aRoRt ¥ SIS

(A) JAAIT-HEFI qfohan
(B) foreprarean stereen

(C) foreromdiel EHEAT-RehTol
(D) HFET oA

11

[P.T.O.
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22. Which of the following is not

a characteristics of secular

education ?

(A) It is meant for all irrespective

of religion, caste, race

(B) It covers religious education of

any kind

(C) It is based on the national goals

and objectives

(D) It attempts to inculcate

religious tolerance and mutual

appreciation of other religious

22. Wl YHATUAE v Af¥Tsed

| ?

(A) ¥, 519, 991 FRus-watast

(B) HIUAE Thi=Al enfden feneyom=i

AN

(C) T &4 9 SR i

(D) TR enfder are=a oo e

qfgeu[dl o qREish feadhdl

contribution
23. Active Agency of Education is ............ 23. fegomefy o ECTINIG

e SR

(A) Cinema
(A) T

(B) Newspapers
(B) gdu=A

(D) Social clubs (D) IS, HED

10
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20. Social Change refers to “Variation | 90.

in social progress, social interaction TR T ST stactEar R
)

or social organization” according

ST Geed AT daet. '’

to :

(A) oA
(A) Brown

(B) e
(B) Smith

C
(C) Cuber (©) ==
(D) Jones (D)

21. In the Indian Constitution the | 21. &M=l WA Gt Qvar=i WRd

provision for promoting equality of TEEde] i RS el
educational opportunity is enshrined
3Te.
11 o RO
(A) ¥ 45
(A) article 45
. (B) <he® 35
(B) article 35
(C) article 46 (C) = 46
(D) article 30 (D) e 30
9 [P.T.O.
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18.

19.

What are the different main types
of social interaction according to

Brown ?

(A) competition, conflict, co-opera-

tion, assimilation

(B) co-operation, conflict, competi-

tion, adjustment

(C) conflict, co-operation, adjust-

ment, assimilation

(D) co-operation, conflict, competi-

tion, acceptance

Important responsibility of the

family is :

(A) Nurturing children

(B) Training virtues and values

(C) Rearing the children

(D) Sex education of children

18.

19.

ST Hd TS sTafshaa fafay

e JhR hivd ?

(A) T¢f, TS, TEHM, THHI

(B) Weid, 99, T, gHENH

(C) W9, WEHTE,  GHTAISA,

HTHTR T

(D) e, Tud, T, fasmdl

HIaTdl HEwETHl SeleRil SR

(A) Ha FA

(B) HelaR H&hR

(C) Ham™ draqreo

(D) gare <ifite fereror
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15.

16.

17.

Which of the following occupies the
highest level in the structure of the

social system ?

(A) the own family
(B) the peer group
(C) the state

(D) the neighbours

According to sociologist, the effect of

on the personality of

individuals is quite high.

(A) Social attitude and social

values
(B)
(®);
(D)

Heredity and environment
Opportunity and responsibility
Attitude and values

Which of the following is the biggest
obstacle in the way of modernization

in India ?

(A) Gap between ideals and

actuality

(B) Ascribed versus achievement

dilema

(C) Closed system of hierarchical

stratification

(D) Lack of Oneness

15.

16.

17.

NOV-70211/1
HHTTSToR = TEd WeieAdeh! ShIvTdl
e Haisd TAT AR ?

(A) A= Hea
(B) 9HIIER
(C) T

(D) IR

TSRS |, e SfaHae]

(A) SIS o<t Ao |HATSh Jod
(B) frgaif¥rerar afifor gftfeerdt

(C) Gt st STereRt

(D) o=t o e

aRardta s om=ar ArTdre

Gtk 0T HIGT TSUD 3 ?

(A) oTeet omfr aEgfeerdt Adal 3T

o e

(B) T™IR=d
=l

[aV

Sl d UK shald I

(C) e TahIomel afee Taeen

(D) Wahi=l 31499

[P.T.O.
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12.

13.

14.

According to the naturalistic school
of philosophy teaching is imparted
primarily through .............

(A) books

(B) the teacher

(C) experiences

(D) religion

Which of the following does not

specify Max Weber’s concept of

social stratification ?
(A) Social Prestige

(B) Political Power

(C) Income and Wealth
(D) Educational Status

According to Leo Crepsi which of the
following factor is responsible for
enforcing social control through the

institutions of family ?

(A) approval and disapproval by

elder generation

(B) responsibility of marriage and

parenthood

(C) religious beliefs of family

(D) economic status of family

13.

14.

(A) &
(B) et
(C) 31w
(D) =H

ETATAdaht HIdl oTd Wl del=]

IR RIS Heheddl T il
T ?

(A) HHISTR gfdsal

(B) US/hia &l

(C) 3= 3for |t

(D) Sreforeh  Tem/SS

s shedi=a1 7, s HAEIH, FHIH

TS0’ 9919 2R UA St SRl Sesh

SEIE e

(A) Arfie f9e=n a=ar 9 S|l

(B) foomg o drcTehwam=t SR
(C) Shear=al oifHe 9§T

(D) Hearn oAfdsw a=i
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10.

11.

The primary cause of bondage
according to Advaita philosophy
is :

(A) Attachment

(B) Evil

(C) Ignorance

(D) Fear

Establishment of ‘minority

institutions’ is based on the

constitutional provision for :
(A) liberty to all

(B) freedom of worship

(C) right to justice

(D) equality of opportunity

The Constitution of India provides

(A) the guarantee of employment
for all

(B) equality of opportunity in public

employment

(®);

reservation of jobs for women

(D) one job for each family in either

government or private sector

9.

10.

11.

NOV-70211/1
3Tgd TETHER S9N (S1e9) 9@
0T

(A) HrgeRmr (3fE=He)

(B) 9™

(C) 3=

(D) et

TS LA Tl HeAda Al

WEEITIR el 3T

(A) Haigrdt @i
(B) I5H W=

(C) == &Fh

W .azq.l. ........................ m%ﬁ. g-l:ﬁ
<.
(A) gatar =t gH

(B)

(C) TSl MM AR

(D) W& forar @Ier &STHES T

Thealell Th hH

[P.T.O.
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Who said the following : 8.
(@) The first principle of teaching @
a
is that nothing can be
taught
() A child should be educated ®)
through basic craft
(¢) Nothing ready-made should be ©
given to child, he should be
made to experiment
- ‘ , (d)
(d) The practice of ‘Brahmacharya
will develop the power of
concentration
(1)
(1) Aurobindo (2) Gandhiji
3)
(3) Tagore (4) Vivekananda
(A)
(A) (@)-(2), (b)-(4), (c)-(1), (d)-(3)
(B) (a)-(4), B)-2), (©3), (@-(1) ®
(C) (a)-(1), (B)-(2), (c)-(3), (d)-(4) (C)
(D) (@)-(3), (B)-(1), (c)-(2), (d)-(4) D)

HEAIAT GIH G 371 i, ' hIEHR!

fSrsherdt Jd AR

HAYd BEhAgR Ho  fRfar
ERE

HeATel ‘ TIR helel| SRRl o 79,

Al TAT HE el

FEEIiaT e WhTIddl e

fosrfaa s
aqfag (2) TIeSH
MR (4) fag=F=

(@)-(2), (b)-(4), (c)-(1), (d)-(3)

(@)-(4), (6)-(2), (¢)-(3), (d)-(1)

(@)-(1), (6)-(2), (¢)-(3), (d)-(4)

(@)-(3), (6)-(1), (¢)-(2), (d)-(4)
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“‘Child’ is the centre of the
education process.” This is the

philosophy of :
(A) Pragmatism
(B) Existentialism
(C) Marxism

(D) Naturalism

Values are inherent in the

individual, is the viewpoint of ..........
(A) Idealism

(B) Existentialism

(C) Pragmatism

(D) Realism

‘Yoga is life, and life is Yoga’, is the

philosophy of ..............
(A) Aurobindo

(B) Tagore

(C) Vivekananda

(D) Gandhiji

el

qa’ = fraor gfewd=n gfeg
3:"%-.17 %- W .................. a0 _0"31%
3.

(A) wHrEEr
(B) &g
(C) WeRag
(D) frvfeR

Jeeh STRiTHEd Hod S 3T &l

(A) eTeRiaR
(B) A
(C) wIFaR

(D) drEdde

‘I TS Sed 9 Sied WU 9nT,

T TO9E I "iEd TR
(A) g

(B) <M

(C) fordreria

(D) Tefrsit

[P.T.O.
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Who is associated with “Education

of the feeling” ?

(A) Rabindranath Tagore
(B) Aurobindo

(C) Plato

(D) Kilpatrick

The aim of education according to

Existentialism is .................

(A) to develop individuals inner

potentialities

(B) to make individuals realise the

supreme self

(C) to prepare individuals to face
peacefully the annihilation of

their existence

(D) to prepare the individuals
to be good citizens of the

society

“erefterad (frfer) freon’ am 3gmd
I ?

(A) TElETd 2R

(B) awfer

(C) ==

(D) foherdfesh

(A) STHI=A1 3Tdiieh &mHarn faerd

ETU

(B) el STwuqy ‘@’ = e

=

(C) ‘#Ht’ = efege AETE ATEIS

ST Mcd |HR SIS TR
HL|

(D) FHNTE IUH AN BI0ITHETa

Il dIR hu]
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Education
Paper 11

foreruTyTTe

gyutrent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

0 . W Y gredl.

AT : A1 TRAehd TR TR (50) SgUEREN U fooidl oTRd. e TRl g (2)

“Education is the dynamic side of
philosophy.” Who has made this

statement ?

(A) John Dewey
(B) Rousseau
(C) Aristotle
(D) John Adams

The Pragmatic Philosophy of
Education has contributed the

following method of education :
(A) Lecture

(B) Self-learning

(C) Project method

(D) Programmed learning
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